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QUESTION 1

Which two commands can an administrator use to remove the datadg02 disk from the datadg disk group based on the
following configuration? (Choose two.)

dg datadg default default 80000 1086905353. 6. treassund0

dn datadg0l Disk 0 auto 20351 143328960 -

dm datadg02 Disk 8 auto 20351 143328960 -

v  data B ENABLED  ACTIVE 6146304 ROUND - gen

pl data-01 data ENABLED ACTIVE 6146304 CONCAT = RW

sd datadg01-05 data-01 datadg01 22539839 6146304 0 Disk 0 ENA

p]. data-02 data ENABLED ACTIVE 6146304 CONCAT - RHW

sd datadg02-03 data-02 datadg02 22539840 6146304 0 Disk 8 ENA
A. vxdg

B. vxdiskunsetup
C. vxplex

D. vxdisk

E. vxvol

Correct Answer: AB

QUESTION 2

Given the following command:

vxassist -g datadg make datavol 10g layout=stripe !ctrl:c2

Which instruction does the !ctrl:c2 attribute prompt Volume Manager to follow?
A. to exclude devices connected to controller c2

B. to exclude devices connected to all controllers except c2

C. to exclude devices from enclosure named “ctrl"

D. to exclude all but the fastest devices from controller c2

Correct Answer: D

QUESTION 3

An administrator has configured replication using Veritas Volume Replicator between two sites. The replication mode is
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set to asynchronous and the replication status is consistent and connected.

The performance of which component impacts the application write performance?
A. write performance of the primary SRL volume

B. write performance of the secondary SRL volume

C. write performance of the data volumes at the primary site

D. network latency between the primary and the secondary sites

Correct Answer: C

QUESTION 4

Which kernel module or plug-in defines array-specific procedures and commands used to select the path failover
mechanism?

A. Array Policy Module (APM)

B. Array Support Library (ASL)
C. Device Discovery Layer (DDL)
D. Array Specific Module (ASM)

Correct Answer: A

QUESTION 5

What is the purpose of a Data Change Object (DCO)?

A. to manage the FastResync maps for snapshot operations

B. to hold all changed data on a volume that supports instant snapshots
C. to replicate data from one plex to another when taking snapshots

D. to identify the regions in a volume with active writes

Correct Answer: A

Reference: https://www.veritas.com/support/en_US/article.100004718
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